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GROUP 2

It works just for the numbers from 11 to 19. In order to multiply those numbers you need to add to the first number the unit number of the second number and write the product of the unit numbers of both numbers. 


The example:

          
                    
                                And the answer is 156. 


                 
                           
                                And the answer is 165. 


Attention! When the product is greater than 9 you just have to add the total and product in a shown way in the example: 

Examples:

                           The answer is 256. 
	
	2
	2
	

	
	
	3
	6

	+
	2
	5
	6


                                           	

             

                                    
                         The answer is 238. 
	
	2
	1
	

	
	
	2
	8

	+
	2
	3
	8


                          
       




Do it yourself:
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